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I "y mwn: children of n/%9n
a  daughter of a %9n (and YX7w’ n1) — NINIY NH0a forever (not just 3 generations as a MR 1¥n) (repeated in next clause)
i note: our Mwn is contra 'RNLIT "1 (only way to propagate mbon is if both parents are '9on as per v. 1)
b  daughter of a nYon (and YR’ 12) — NNNIY MW
i source: v"1 of vv. 1-2; just as only men were warned in re: nn nkmv, so too, 15N only applies to men
1 Challenge: if so, shouldn’t apply to the 1n3’s daughter (with a n11n3% n%oa)
(a) Answer: v. 1 states w11 (not just 121)
2 Challenge: if so, his son’s daughter should be permitted
(a) Answer: w Y9 RY juxtaposes him to his children —just as his daughter is 09109, so too his son’s daughter
3 Challenge: if so, his daughter’s daughter should be banned
(a) Answer: then the w1 has no purpose
ii  Addendum: she also becomes n%9n (1'p - she was engaged in the violation) — but not he, who can never become 5%n
iii  Definition of 55m. anyone born of n1n3 *»10a (can’t include all 1189, as the child of 1wy N is 7w as per v. 3)
1 Support: 12 demonstrating need for all four o listed in v. 4 (since NN N59N ,nwiT are already 1129 MMOR)
(a) /w1 teaches that she has independent MR in case of 1”12 (9010 NO'R)
(b) 7755 teaches that it can only be produced by nnns mor
(c) A teaches that the child is a %91 in case of VY17 11
(i) - if ajnd has nr»a with his sister, she becomes a nat; if he has nk»a with her again, she becomes n%on
¢ nmi a7 the daughter of a 7 is like the daughter of a 591 (n5109) (explained in next Myw)
II  multiple 1P’} on one woman vis-a-vis 1102 ’9108 (MOR HY SN NOR)
a If:awoman is an YR of 3 men and then 313 has nk»a with her — only one liability (same with nw1 X3 with 1)
i However: if she is an nin%&k who became a nw13, then a nY9n and then a Nt (v. 4) — 4 vavn (but only in that sequence)
1 Question: if Ran holds 1028 Yy Yn MO, order shouldn’t matter; if not, even in this order, it shouldn’t amass
(a) Answer (¥37): Xan holds R YY YN NOR PR except for 90N NOX:
(i) First: she was an ninbr — only prohibited to 3"n2
(ii) Then: when she becomes a nw173, she becomes banned to V1711 113 so added TR also to 3”3
(iii) Then: when she becomes a n9on, she becomes banned from nmAn — adds MR to 3"n3 and VTN
(iv) Then: when she becomes a N1, the notion of mir has implications vis-a-vis Y81’ (adultery)—> adds to all
b  Teaching in presence of nww "3: anyone who is available for v. 5 can be a violation of v. 4 — excluding (e.g.) the 3"n2’s sister
who is an ninHr
i Take #1: must be v (MR YY YN NOR PR); 1117 Maintain MR HY YN NOR
1 Challenge: could be 1321 — they only allow 10’8 5» Yn 170’k when the 2¢ is more severe
ii ~ Take #2: must be 1327, who don’t allow for MR YY Yn NOX if the 274 is lighter than the 1¢t
1 Explanation: if it were v™, he would even disallow MR 5» Yn MR if the 2" were more severe
(a) Example: a n911 eaten on 3"nv, according to w™, doesn’t generate liability for violating »y
2 Rejection: could be w™, countering notion that n11n> Mo'x should be different (and “overlay”)
¢ Multiple o>1707K in each case of 721715 5109
i AT 373”03 and MNYR generates 2 IRY — nNp> RY and YoM RY
1 note: would also violate 111 Yon’ &Y if he achieves nR’a 9m)
(a) challenge: nw¥IN NINYR generate 2 PIRY (answer: 2 PRY each)
(b) block: end of that ruling states that nom nw1 only generates 1 (answer: 1 “set” of 118Y)
(c) observation: N9YN MR to a 113 is 131277 (and extension based on [NWRN NWIII) NWRI] is an RNINOR)
d  liabilities for 77 1R
i »ax one for pwITP (NP> ®Y) and one for NR» (YoM RY)
ii ~ ~27 only if he has n&» — reason for np> RY is Yon> RY (7R agrees in case of MWIM PN - v. 3)
1 note: X171 agrees with »aR in case of N3 with nINYR — w1 Yo 8O
2 both agree: in case of \mwYM PN that NX01 sans PYITPP doesn’t generate XY, NOR is MYIR 71T
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